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(C) BBEN=LZHH100kN/ ML T DR BHDFEEND F DB KIEKN/ m) (G) HEEIIMUTORBOHFED DB KIEKN/m) BAMGE= T & =X R L IR Pri-tm AT
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(A) B) (©) (D) (E) (F) (@) (H) (A) (B) (©) (D) (E) (F) (G) (H)
(1) - - 94.0 1.0 - - 10.2 20 - — 94.0 1.0 — - 10.2 20
( 2) - - 83.8 1.0 - - 12.0 24 - - 83.8 1.0 - - 12.0 24
( 3) - - 76.6 1.0 - - 14.4 28 - - 72.3 1.0 - - 14.4 28
( 4) 107.8 1.0 99.6 1.0 - - 144 2.8 107.8 1.0 96.9 1.0 - - 14.4 2.8
(5) 106.6 1.0 99.6 1.0 - - 125 25 106.6 1.0 96.9 1.0 - - 125 25
( 6) - - 96.4 1.0 - - 10.7 2.1 - - 96.4 1.0 - - 10.7 2.1
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